BEABIFREBE (202241 1AHRE)

E1) 5BULENFIE LU TWDIEANZES.
x2) RELAMNHRAOIREEDHEST U, KB (SR,
x 3) BEANBIIERERE T (IEHRFDENFE L TEST,

ENE 45l AR & 1 & 2 f& i

(¥R ) IS TR ST Pl 13 96 52 11

TEE 10 65 28 5
(BR)AVI>AILAHILT Y 9 62 13 19
AR\ DA - TOZF ) DT HERR) 3 17 7 70
hEAN\A DA - T>SZ7 YU TER(R) 0 2 8 86
FEESE%(HK) 9 69 6 0
(BR)RORXARBARI> =TI 0 4 2 72
KB (FK) 10 53 6 2
(—EHEFAES 0 6 59 0

HATIE (#K) 3 22 35 0

BOFER(HR) 0 8 42 2
hHASERE(HK) 0 10 2 37
FAEASRER T > > =77 > M (#K) 0 0 1 47
FEAIO> ST MER) 0 0 0 48
FAEASRERT > >=77Y >R (Hk) 0 1 6 39
(—ENESMIRES 0 14 30 0
=HHERERO>HILY S MNER) 1 6 30 0
(BR)iEEtig DO < D> 45— 1 10 17 8
(—fh)iEEES S 0 6 26 3
SEZKIRES (FK) 10 19 4 1
AEHASRERI > > 7Y > J0E (1K) 0 5 5 24
(¥R) K #iH 7 24 0 0
[EPRATEE(HK) 0 10 15 5
FHZER(FR) 2 19 7 0
KEARIO>HILE > MER) 2 8 1 17
(BR)T1— 0 8 18 2
INS T w O BILF Y (FR) 3 14 8 2
HAIRE (HK) 0 2 0 25
(BR)7 —Rv b= ) 0 2 1 23
NFRI>>Z=VU>J(#kR) 1 9 10 4
(BR)ROXd - IT>>=7Y 205 1 4 2 17
@A 0 8 3 11
(¥k)/\TUw 2 %3], (¥K)J.CONSIS 0 0 0 22
REAREIRE(K) 8 5 2 6
(¥R) T bBEARFFs 3 13 5 0
i FAHDES (BK) 0 17 4 0
(—Eh)BBTEER SRt 5 — 0 14 6 1
(¥R )EaATHE 2 13 3 2
(—D)UEOUIA bMaps 0 6 12 2
(BR)RORD - T UIE 0 0 0 20
#)U - T -I>>=F7U>y 0 0 0 20

1/4




BN 455l Bk s
1EEAERET(FR) 0 5 13 1 19
(—E)BREFRBHRLEETE Y — 1 14 3 0 18
(FR) A3 B A F A 1 2 0 15 18
FUMNESR > BILF > MER) 0 16 1 0 17
FIFEE(HR) 2 7 7 0 16
STBEIT> >V >0 () 0 0 2 14 16
(BR)RORD - T2 7Y JibBE 0 0 0 16 16
(FK) =2/ - fdl 2 13 0 0 15
(IR )KEIFHEE 1 11 3 0 15
BE_E T2 (¥K) 1 3 11 0 15
FEEHAESRER T > =7 Y > ME(KK) 0 0 1 14 15
(R ERTYD 0 5 9 0 14
(—ft)HERthig O < DS 0 4 5 5 14
A - —F (k) 0 4 4 6 14
(RR)sE—>BILF>Y 0 1 11 2 14
(BR)YFPA - FT«4— - IT— 0 1 1 12 14
(R)ERFREZI>HILT> b 1 3 7 2 13
(R EEFMII>HILST > b 2 4 5 1 12
DB HER(FK) 1 0 11 0 12
(¥K)=8+H 0 12 0 0 12
(REAEZEI>HILI> 0 1 11 0 12
SRR (FR) 2 7 0 2 11
(BRBIRIT>>=7U> 0 2 4 5 0 11
i3Sy N 1 0 0 10 11
(BR)NJ S 0 10 1 0 11
(Fk)/ (R 0 8 3 0 11
WERRER > HILF > MER) 0 5 6 0 11
(R)BRNX R A FUE 0 5 5 1 11
CIVEIAWZ SVAN 0 0 0 11 11
SIAIAS—TI>2>Z77 U (%K) 0 0 0 11 11
SITA7—=)LEBARIY)LT Y (HK) 5 2 2 1 10
() EhEE - Ehn e RS IR AR 2 5 1 2 10
(#R)REHHH 1 8 0 1 10
MR)REZEITE 1 1 0 8 10
(—#t)dLpEMg D < DS 0 7 3 0 10
(WR) B IRIBAATT A 0 5 5 0 10
(ER) T ARAFCPR 0 5 3 2 10
(—B)st=5TERA TR 0 3 7 0 10
(R)FE> B> 0 2 5 3 10
(—EhH XSRS 0 1 9 0 10
FFEE /P> T)L5 > MER) 0 1 3 6 10
(¥K)/) R 0 0 6 4 10
(BREEI>YILTa 2Tt 5— 0 0 0 10 10
KT (RK) 0 0 0 10 10
(—BF) Seimidssetetitz > 5 — 5 3 1 0 9
7 RUAI(HR) 0 3 5 1 9
> SO YILET S MER) 0 1 1 7 9

2/4




ENE 51 _E R & =
IS A ARMEIR(FR) 0 1 1 7 9
(KR b= R—T>>=F7U>y 0 0 1 8 9
=R BILE Y (BR) 0 0 0 9 9
EROEIR T (FK) 3 2 3 0 8
(R)R—1> 3 2 2 1 8
(%)BKk3> 2 4 1 1 8
(¥R) h—=—Fa>HILF> & 1 2 3 2 8
(—f) Ui SRS 1 1 3 3 8
IERITEKRF 1 0 0 7 8
FEEARI>HILEY > MER) 0 8 0 0 8
(—Bt) ARt 5 — 0 6 2 0 8
WTa(FK) 0 4 4 0 8
(¥R)DIT X 0 3 3 2 8
(—EH a4 0 1 7 0 8
(R)FERIE*T 2 4 1 0 7
(¥R) K 1 6 0 0 7
A AREERE(K) 1 6 0 0 7
thiR > H)L5 Y (R) 1 5 1 0 7
(—ft) BARE S T s 1 2 4 0 7
(MR )IIEACERET 1 2 2 2 7
AR 1 1 0 5 7
FEARIRES (BR) 0 7 0 0 7
(BR)NMNERI > >V 0 6 1 0 7
HiEX#L> )L > MER) 0 6 1 0 7
(BR)ELO>BILET> b 0 5 2 0 7
(PR)ZEPEHM T 0 1 6 0 7
MR—BO>BILT > MHR) 0 1 6 0 7
(MR)FEAI>HILY> b 0 0 7 0 7
(MR)AT 77 - 05T b 0 0 0 7 7
(¥R)FE B AERE 0 0 0 7 7
EREP T 5% (HK) 0 0 0 7 7
(—BN)EFRESEREAR T 5 — 2 2 2 0 6
BEEIRE () 1 4 1 0 6
HN> 0 — NITEGKR) 1 2 1 2 6
(BRI AR 0 5 1 0 6
BERZERNVRT A MHR) 0 5 1 0 6
RHASRER(FK) 0 4 1 1 6
(R)>—F7wv o 0 3 2 1 6
(R)FEt> hILIBILY S b 0 2 4 0 6
(—#)/)\TOVUwoH—EX 0 1 0 5 6
(¥R) 77 - FAROv T - AHILFNY 0 0 0 6 6
FTHI v OUTAFTT(HR) 0 0 0 6 6
FTEASKET(FR) 0 0 0 6 6
tho{EZE 1> YL WY (5K) 2 3 0 0 5
HAKXZE 2 0 1 2 5
AT T2 (HK) 1 4 0 0 5
EIRFFE(TK) 1 4 0 0 5

3/4




ENE 45l AR & =

EE SN 1 3 1 0 5
JFEI>>ZFUSI(R) 1 2 2 0 5
RET 1 2 0 2 5
($R)77 «- TR - T— 1 0 4 0 5
(R) 77 I7HERREGT I PILY S b 1 0 0 4 5
(—B7) B IRFhE TN 0 3 2 0 5
(BR)UERMII>PILT > ~ 0 3 2 0 5
(Z23B4)70]) 1| B4 =] 0 3 2 0 5
(MR)BEFELET O PILI > 0 3 5 0 c
IR, (#R)J-POWERE&ETO>HILZ> b

(BR) AR T2 0 3 2 0 5
BRRED 0 3 1 1 5
(—f)EAtig DO < D 0 1 3 1 5
AEHO>YILE > B(ER) 0 1 0 4 5
(R)IX-E—->— 0 0 3 2 5
(REEI>>—vU>J 0 0 2 3 5
(R)DTILTV T 0 0 0 5 5
(R)Bo>—R 0 0 0 5 5
(RJEI>>=ZF > 0 0 0 5 5
A0S (BK) 0 0 0 5 5
[LEXRF 0 0 0 5 5
FEHATLE(HK) 0 0 0 5 5
BEKF 0 0 0 5 5

4/4




